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Multiplication (Vertical) Name:
Solve each problem. Answers
D 626 2 814 3 193 4 793 X
x 9 x 7 x 4 x 4 '
2.
3.
4.
5 490 ) 468 ) 990 8 700 i
X 6 X 9 X 7 X 2 '
6.
7.
8.
9 219 100 323 1) 397 12) 134 .
x 4 x 9 X 6 x 8 '
10.
11.
12.
13 566 14) 813 15 288 16) 732
9 9 N 3 9 9 « 4 13.
14,
15.
16.
1) 761 18) 806 19 333 200 831
x 9 x 8 x 9 x 9 1
18.
19.
20.
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
D 626 2 814 3 193 4 793 5 634
x 9 x 7 x 4 x 4 t :
5.634 5.698 772 3,172 ” 5,698
3 772
4 3,172
5 490 6) 468 ) 990 8 700 i 2940
X 6 X 9 X 7 X 2 ' ’
2.940 4,212 6,930 1,400 6 4,212
- 6,930
8 1,400
9 219 100 323 1) 397 12) 134 . 376
X 4 X o] X 6 X 8 '
876 2. 907 2.382 1,072 0 2,907
1. 2,382
2 1,072
13 566 14 813 15 288 16) 732 . 5094
x 9 x 8 X 9 x 4 ' :
5,094 6,504 2.592 2.928 s 6,504
15, 2,592
1. 2,928
1) 761 18) 806 19 333 200 831 o 6.849
X (®] X 8 X 9 X 9 ' ’
6,849 6,448 2.997 7.479 18, 6,448
9. 2,997
0. 1,479
1-10 195(90(85|80| 7570|6560 |55 |50
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